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BT B = [ LRV IFTKITAMI ] HRED [ EREETRS VR HE ] Total
Bl JI= 7.0 J2= 6.8 J3= 7.1 J4= 6.8 J8=9.400 J9= 9.400 J10= 9.400 D= 5.0 Pen= T= 37.600 o
1 B2 JI= 7.0 J2= 6.6 J3= 7.1 J4= 6.6 J8= 8.800 J9= 8.800 J10= 8.800 D= 5.0 Pen= T= 36.200 73.800
ssbr v VL X5
NEAL ek BLE [ BRNFLRIL 25T ] B ER [ BRNGURIL 25T ] rotal
Bl JI= 7.0 J2= 6.6 J3= 7.1 J4= 7.0 J8=9.200 J9= 9.200 J10= 9.200 D= 5.7 Pen= T= 38.100 o
2 B2 JI= 6.9 J2= 7.0 J3= 6.9 J4= 6.9 J8= 8.000 J9= 8.000 J10= 8.000 D= 5.7 Pen= T= 35.500 73.600
LA IHin BBO 550
JEAL R BA& [ FUBYL 2T 7KITAMI ] R AL [ RENSCRICHE ] rotal
Bl JI= 7.1 J2= 7.3 J3= 7.3 J4= 7.0 J8=9.300 J9= 9.300 J10= 9.300 D= 5.2 Pen= T= 38.200 o
3 B2 JI= 6.7 J2= 7.2 J3= 6.9 J4= 7.0 J8= 8.000 J9= 8.000 J10= 8.000 D= 5.2 Pen= T= 35.100 73.300
HED LA I Lwhib
B #% 0 [ MU RYLZTFKITAMI ] FHEMET [ N2 R I5TKITAMI ] ol
Bl JI= 5.7 J2= 5.2 J3= 5.5 J4= 5.4 J8=6.400 J9= 6.400 J10= 6.400 D= 0.0 Pen= T= 23.700 o
4 B2 JI= 6.4 J2= 6.4 J3= 6.6 J4= 6.5 J8= 8.600 J9= 8.600 J10= 8.600 D= 5.0 Pen= T= 35.100 58.800
LAT Lwpdm BEIZL @
NERTZ WA #IE [ SIBTSyXSPAER ] KIE M [ ABOEERITT ] ol
B/l JI= 6.3 J2= 5.9 J3= 6.4 J4= 6.2 J8= 17.100 J9= 7.100 J10= 7.100 D= 0.0 Pen= T= 26.700
5 B2 JI= 6.4 J2= 6.4 J3= 6.1 J4= 6.2 J8= 8.200 J9= 8.200 J10= 8.200 D= 0.0 Pen= T= 29.000 55.700
ZIERL 7 CAD 0iF
JEAL  /vik #LZ [ W ERTRIVRU e ] B EMR [ REERTR RIS ] Total
Bl JI= 6.6 J2= 6.4 J3= 6.8 J4= 6.6 J8=17.100 J9= 7.100 J10= 7.100 D= 5.2 Pen= T= 32.600 o
6 B2 JI= 2.6 J2= 2.6 J3= 2.6 J4= 2.7 J8= 2.800 J9= 2.800 J10= 2.800 D= 0.0 Pen= T= 10.800 43.400




